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Problems based on Coulomb’s law

1. If two charged particles of charge 1C each placed at 1m them find the
electrostatic force between them.

gie A ARG FHoT FoF 3ewr AL 1C 8 T G ¥ 1m & g0 W =¥[ & @ SHi & o=
ST ATl T TIHTOT T e |
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2. Two charged particles of charge 2nC each are placed at 30 cm then find
the force between them.

& AR For ek afemmor sFEen 2pC 9o 2pC § Uh S Q30 cm I g W Ra €
A A % A TR 9Tl S T IRHTOT I e |
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3. If two charged particles of charge 4pC & 6uC respectively are placed at 60
cm from each other then find the force between them

gie S AERIT 0T Sreh 1A FHAM: 4uC 721 6pC § T TR ¥ 60cm 6 ¥ | Rq €
Al QAT b S T ATl ST AT e |
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4. It two charged particles of charge 4uc & 8uc respectively experiences 0.8
N force then find the distance between them.

Tie 1 ARG HUN 6 ATE FAM: 4pc TAT 8pe € AR T F1 0.8N & I F1 AW
A & AT a1 % S Sl g S e
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5. If force between two equally charged particle is 1.6N placed at 60cm. Find
the charge of each particle.

gie T Tk GHMH GRHTT & AR FHON 6 e 1.6N 1§ TTT @ 3R S o6 A1 bl g4
60 cm @ TN THH AT 1A He |
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6. It two charged particles are placed at 1 cm what can be minimum
electrostatic force between them.

i T ATARIG 07 T o § 1cm 1o g0 W = € al &A1 & & a9 R 94d I

fehaAT &1 9ohdl ©
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7. Find the force between two a — particles placed at 10 °m

2 TR (o) FUT T T ¥ 106 m TR & A A1 o o1 51 T |
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Example 1 : It Distance between two charged particles becomes double

then force will become how many times.
FTe & ATETRIG Tl o &1 2l G QRIAT < &l ST Al 96 [eha =T AT &1 ST
Y = | 2
T i e %
1 12 N T2
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Example 2 : It Distance between two charged particles becomes half then
force will become how many times.

TS & ATETRIG Tl o a1 2l G4 STl < &l ST AT 61 {ehd =T AT &1 SATU?
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Example 3: If Distance between two charged particles increased by 20%
then force will become how many times of original force?

Jie a1 AT 0T o &1 2Rl G 20% T &l STl & & {oha=T AT BT S0 |




